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UNIVERSITY OF NORTH BENGAL 

B.Sc. General Part-II Examination, 2022 

PHYSICS 

PAPER-V 

Time Allotted: 2 Hours Full Marks: 45 

The figures in the margin indicate full marks. 
 All symbols are of usual significance. 

 Answer Question No. 1 and other three questions,
taking one from each Group 

pű নং ১ এবং pিতিট িবভাগ �থেক একিট কের pű িনেয় আরও িতনিট pেűর উtর দাও 
ry fnb,dk iz”ug: e/;s iz”u la[;k ,d vfuok;Z N vfu vU; iz”ug:ckV izR;sd 

lewgckV dErhek ,d ,d xjh rhu iz”ug:dks mÙkj fnuqgksl 
 

1.  (a) State the postulates of Bohr’s theory of Hydrogen-like atoms. 

‘হাইে»ােজন-সম পরমাণুর জনয্ েবােরর তেttর অনsীকাযর্gিল েলখ। 

2

 gkbMªkstu tLrS ijek.kqdks cksgjdks fl)kUrdks eukbZg: ys[uqgkslA 

(b) How does the resistance of a semi-conductor vary with temperature? Explain. 

তাপমাtার সােথ অধর্পিরবাহীর েরাধ িকভােব পিরবিতর্ত হয় এবং েকন ? 

2

 ,mVk v/kZpkyddks izfrjks/k rkieku flr dljh cnfyUN \ crkmuqgkslA 

(c) What are Stoke’s and anti-Stoke’s lines in Raman scattering? 

রমন িবc ুরণ pিkয়ার েsাকস ্  এবং অয্ািn-েsাকস ্  েরখাgিল কী কী? 

2

 jeudks LdsVjhaxek LVksDl vfu ,fUVLVksDl js[kkg: ds gqu~ \ 

(d) For a transistor, the collector current is 0.98 times the emitter current. Calculate 
the current amplification factor for the transistor in CE mode. 

েকান ¹ানিজsােরর সংgাহেকর pবাহমাtা িনঃসারেকর pবাহমাtার 0.98 gণ। ঐ ¹ানিজsােরর 
CE mode–এ তিড়ৎpবাহ িববধর্ন gণক িনণর্য় কর। 

3

 ,mVk VªafLVjdks dysDVj djsaV 0-98 ys ,feVj djsaV HkUnk T;knk NA ;ldks CE eksMek 
djsaVdks ,fEifyfQds”kudks ¶;kDVj [kksTuqgkslA 
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 GROUP-A / িবভাগ-ক / lewg-d 
(Special Theory of Relativity) 

2.  (a)  State the postulates of special theory of relativity. Show that if v ≪ c, the Lorentz 
transformation equations reduces to Galilean transformation. 
িবেশষ আেপিkকতাবােদর মলূ sীকাযর্gিল েলখ। যিদ v ≪ c হয়, েদখাও েয েলােরেĂর rপাnর 
সমীকরণgিল গয্ািলিলওর rপাnর সমীকরেণ পিরবিতর্ত হয়। 

2+2 = 4

 Special theory of relativity dks vfHk/kkj.kkg: crkmuqgkslA v ≪ c gqnk yksjsatdks 
transformation dks lehdj.k Galilean transformation ek ifj.kr gqUN Hkuh 

crkmuqgkslA 
(b) Using Lorentz transformation, find the velocity addition relations. Hence, show 

that the velocity of light is same in both the frames. 
েলােরেĂর rপাnেরর রািশমালা বয্বহার কের dিট িনেদর্শতেttর মেধয্ গিতেবেগর পিরবতর্েনর 
রািশমালা িনণর্য় কর এবং েদখাও েয dিট িনেদর্শতেttই আেলার গিতেবগ একই থােক। 

4+2 = 6

 yksjsatdks transformation pyk,j osxdks tksfM+us lehdj.k [kksTuqgkslA ;lFkZ] izdk”kdks 
osx lcS ek/;eek ,mVS gqUN Hkuh izek.k xuZqgkslA 

(c) Find the velocity of a particle if its total energy is twice of its rest mass energy. 
যিদ েকান কণার েমাট শিk তার িsর ভর শিkর িd-gণ হয়, তেব কণািটর গিতেবগ িনণর্য় কর। 

2

 ,mVk d.kdks eksB mtkZ ;ldks fLFkj nzO;eku mtkZdks nqx.kk gqnk ;ldks osx 

[kksTuqgkslA 
  

3.  (a) On the basis of Lorentz transformation, discuss (i) length contraction and (ii) time 
dilation. 
েলােরĂ rপাnর সমীকরণেক িভিt কের (i) �দঘর্য্ সংেকাচন এবং (ii) সমেয়র িবstিত সmেn 
আেলাচনা কর। 

3+3 = 6

 yksjsat transformation ds vk/kkjek o.kZu xuZqgkslA 

(i) length contraction and (ii) time dilation. 

(b) Show that space-time interval 222222 tczyxs  is invariant under Lorentz 
transformation. 
েদখাও েয, sান-কাল পাথর্কয্ 222222 tczyxs  েলােরĂ rপাnেরর েkেt একই থােক। 

3

 vUrfj{k-le;dks vUrjky 222222 tczyxs  yksjsatdks transformation xnkZ 

mifjorZu”khy gqUN Hkuh ns[kkmuqgkslA 

(c) Show that if the variation of mass with velocity is taken into account, the kinetic 
energy of a particle of rest mass 0m  and moving with a velocity ‘v’ is given by 
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 ;fn nªO;ekudks osxflrdks ifjorZuykbZ ekU;fn,] ,mVk 0m  cjkcjdks fLFkj nzO;eku 

vfu ‘v’ dks osxys dqfVjgsdks d.kdks xfr mtkZ 
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Hkfu ns[kkmuqgkslA 

  

 GROUP-B / িবভাগ-খ / lewg-[k 
(Atomic and Nuclear Physics) 

4.  (a) Describing Thomson’s experiment, explain how the analysis of positive rays led 
to the discovery of isotopes. Why in this method, the parabolas do not reach up to 
the origin of the graph? 
থমসেনর পরীkা বণর্না কের েদখাও েয, এেত ধনাtক রিŲর পযর্ােলাচনা করেত িগেয় িকভােব 
সমsািনক আিবkত হয়। এই পdিতেত অিধবৃtgেলা েলখিচেtর মূলিবnু পযর্n েপৗঁছায় না েকন ? 

5+1 = 6

 Thomson dks ifj{k.k o.kZu xuZqgkslA ldkjkRed fdj.kdks fcÜys’k.k xnkZ dljh 

isotope dks iÙkk ykX;ks Hkuh o.kZu xuZqgkslA ;ks fof/kek ikjkcksyk fdu xzkQdks ewy lEe 
iqXnSuA 

(b) How many quantum numbers are required to define the state of an electron? What 
are they? 
একিট ইেলক¹েনর দশা বণর্না করার জনয্ কত সংখয্ক েকায়াnাম সংখয্ার pেয়াজন হয় ? তারা িক 
িক ? 

1+1= 2

 ,mVk bysDVªksudks voLFkkg: ifjHkkf’kr xuZdks fufEr dfroVk quantum la[;kg:dks 
vko”;drk iNZ \ fruhg: ds ds gqu~ \ 

(c) A cyclotron with dee’s diameter 1.8 m has a magnetic field of 1.8 tesla. Calculate 
the energy to which the doubly ionized helium ion He++ can be accelated. Mass of 
He++ is 27–1068.6 kg. 
একিট সাইেkাে¹ােন িড-র বয্াস 1.8 m এবং েচৗmকেkেtর pাবলয্ 1.8 tesla। একিট িd-আয়িনত 
িহিলয়াম আয়ন He++-েক কত শিkেত tরািƠত করা েযেত পাের ? He++–এর ভর 

27–1068.6  kg.। 

4

 ,mVk 1.8 m cjkcjdks dee O;kl Hk,dks cyclotron dks pqEcdh; {ks=cydks eku 1.8 
tesla NA ,mVk doubly ionized helium ion He++ ykbZ dfr lEedks mtkZek rRojf.kr 

xuZ lfdUN \ He++ dks nzO;eku 27–1068.6 kgA 
  

5.  (a) Write a short notes on: 
(i) Nuclear fission 
(ii) Binding Energy of a Nucleus. 
সংিkp টীকা েলখঃ 
(i) িনউিkয়ার িবভাজন। 
(ii) িনউিkয়ােসর বnনশিk। 

3+3 = 6

 NksVks fVIi.kh xuZqgksl~ & 

(i) Nuclear fission 
(ii) Binding Energy of a Nucleus. 
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(b) What do you mean by the Q-value of a nuclear reaction? Comment whether the 
following reaction is exoergic or endoergic: 

QHOHeN 1
1

17
8

4
2

14
7  

[Given: Mass of amu00388.4He4
2 ; mass of amu00755.14N14

7 ; mass of 
amu00453.17O17

8 ; mass of amu00815.1H1
1 ] 

িনউিkয় িবিkয়ার Q-ভয্ালু বলেত িক েবাঝ ? িনmিলিখত িবিkয়ািট শিkদায়ী না শিkgাহী েস 
িবষেয় মতামত দাওঃ 

QHOHeN 1
1

17
8

4
2

14
7  

[েদওয়া আেছঃ 4
2 He -এর ভর amu00388.4 ; 14

7 N -এর ভর amu00755.14 ; 17
8O -

এর ভর amu00453.17 ; 1
1H -এর ভর amu00815.1 ] 

2+2 = 4

 ,mVk vk.kfod izfrfØ;kek Q-eku HkUukys ds cqf>UN \ ry fn,dk izfrfØ;k exoergic 
gks fd endoergic fVIi.kh xuZqgkslA 

QHOHeN 1
1

17
8

4
2

14
7  

[fnb,dks N 4
2 He  dks nzO;eku amu00388.4 ] 14

7 N  dks nzO;eku amu00755.14 ] 
17

8O  dks nzO;eku amu00453.17  vfu 1
1H  dks nzO;eku amu00815.1 ] 

(c) What is radio carbon dating? 
েরিডও কাবর্ন েডিটং বলেত িক েবাঝ ? 

2

 Radio carbon dating ds gks \ 
  

 GROUP-C / িবভাগ-গ / lewg-x 

(Solid-state Physics and Elementary Quantum Mechanics) 

6.  (a) What is photoelectric effect? Write down Einstein’s equation for photoelectric 
effect. 
আেলাক তিড়ৎিkয়া িক ? আেলাক তিড়ৎিkয়া সmিকর্ত আইনsাইেনর সমীকরণিট েলখ। 

1+2 = 3

 Photoelectric effect ds gks \ Photoelectric effect dks fufEr Einstein dks lehdj.k 
ys[uqgkslA  

(b) What is Compton effect? Explain why Compton effect cannot be observed with 
visible light. Determine the Compton wavelength of an electron. Given 

s-J1062.6 34–h , kg1011.9 31–
em  and m/s103 8c . 

কmটন িkয়া কােক বেল ? দৃশয্মান আেলার সাহােযয্ েকন কmটন িkয়া পযর্েবkণ করা যায় না, 
বয্াখয্া কর। ইেলক¹েনর কmটন তরñৈদঘর্য্ িনণর্য় কর। েদওয়া আেছ, s-J1062.6 34–h , 

kg1011.9 31–
em  এবং m/s103 8c . 

1+2+2 = 5

 Compton effect ds gks \ Visible izdk”kek compton effect fdu ns[u lfdUnSu Hkuh 
o.kZu xuZqgkslA ,mVk electron dks Compton dks wavelength [kksTuqgkslA 

fnb,dks N] s-J1062.6 34–h , kg1011.9 31–
em  and m/s103 8c . 
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(c) State and Explain Heisenberg Uncertainly Principle. 
হাইেজনবােগর্র অিনůয়তাবাদ তttিট িববতৃ কর ও বয্াখয্া কর। 

2

 Heisenberg dks Uncertainity dks fl)kUr crkmnS o.kZu xuZqgkslA 

(d) The velocity of an electron is 200 m/sec with an accuracy of 0.01%. What is the 
uncertainty in determining the position of the electron? 
[Mass of the electron = kg1011.9 31– ] 

0.01% সূkতা সােপেk একিট ইেলক¹েনর drিত 200 m/sec। ঐ ইেলক¹েনর অবsান িনণর্েয় 
অিনůয়তার পিরমাণ িক হেব ? [ইেলক¹েনর ভর = kg1011.9 31– ] 

2

 0.01%  dks “kq)rkflr ,mVk bysDVªksudks osx 200 m/sec NA ;ks bysDVªksudks fLFkfr 

ukInk uncertainity dfr gqUN \ [bysDVªksudks nzO;eku = kg1011.9 31– ] 

  
7.  (a) State and Explain Moseley’s law in X-ray spectrum. 

এk-রিŲ বণর্ালী সmর্িকত েমাসেলর সূtিট িববৃত কর এবং বয্াখয্া কর। 
2

 X-ray dks LisDVªeek Moseley dks fu;e crkmuqgkslA 

(b) Find the expectation value of position and momentum of a particle trapped in a 
1-D box. 
একিট কণা একিট 1-D বােk আবd আেছ। কণািটর sান ও ভরেবেগর সmাবয্ মান িনণর্য় কর। 

2+2 = 4

 ,mVk 1-D cDlek QUnkek ijsdks d.kdks fLFkfr j xfrdks vk”kktud eku [kksTuqgkslA 

(c) Sketch the (111) and (102) planes of a simple cubic cell. 
Simple cubic cell (S.C.C)-এর (111) এবং (102) তল dিট অìন কর। 

2

 ,mVk lk/kkj.k ?kukdkj dks”kdks (111) vfu (102) leryg: fpf=r xuZqgkslA 

(d) X-ray of wavelength 0.5Å are diffracted at an angle of 5o in the first order from 
the (111) plane of a simple cubic crystal. Find the interplanar spacing and lattice 
constant of the crystal. 
একিট সরল ঘন েকলােসর (111) তল েথেক 0.5Å তরñৈদেঘর্য্র X-ray 5o েকােণ pিতফিলত হয়। 
pিতফলেনর মাtািট হল pথম পযর্ােয়র। ঐ েকলােসর আnঃতল দূরt িনণর্য় কর। 

2+2= 4

 ,mVk lk/kkj.k ?kukdkj fØLVydks (111) leryckV 0.5Å dks wavelength Hk,dks 
X-ray 5o dks dks.kek diffraction gqUNA R;l fØLVydks lerydks nwjh vfu Y;kfVDl 
dULVku [kksTuqgkslA 

  
8.  (a)  Explain the physical mechanism of Avalanche and Zener breakdown in 

reverse-biased p-n-junction diode. 
িবপরীত বায়াসযুk p-n–ডােয়ােডর েkেt সmpপাত (Avalanche) �বকলয্ ও েজনার �বকলয্ 
িকভােব ঘেট, বয্াখয্া কর। 

2+2= 4

 ,mVk reverse-biased p-n-junction diode ek Avalanche vfu Zener breakdown dks 
la;U=dks o.kZu xuZqgkslA 

(b) Define α and β parameters for a transistor. Determine the relation between them. 
একিট ¹ান  ্  িজsােরর েkেt α এবং β –র সংjা দাও। এেদর মেধয্ সmকর্িট িনণর্য় কর। 

1+1+2= 4

 ,mVk transistor dks α vfu β parameter g: ifjHkkf’kr xuZqgkslA fruhg: ohpdks 
lEcU/k ifu [kksTuqgkslA 



B.Sc./Part-II/Gen./(1+1+1) System/PHSG-V/2022 

2130  6

(c) What is hysteresis loop? What is the physical significance of the area of this 
loop? 

িহেsিরিসস চk িক? এই চেkর েktফেলর েভৗত তাৎপযর্ িক ? 

1+2 = 3

 Hysteresis loop ds gks \ ;ks loop dks {ks=dks dks egRo ds N \ 

(d) State Curie law for a paramagnetic material. 

পরাcmকীয় পদােথর্র েkেt kরী সূtিট িববৃত কর। 

1

 ,mVk paramagnetic inkFkZdks fufEr Curie dks fu;e crkmuqgkslA 

 
——×—— 

 


